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BRERBRRNRZA 2023558128
FILEILIKEE <0.0005 (F#&H) | <0.0005 (F#&H) | <0.0005 (FHH) | <0.0005 (F#H)
KSR <0.0005 <0.0005 <0.0005 <0.0005
ARIYL <0.001 <0.001 <0.001 <0.001
EN <0.005 <0.005 <0.005 <0.005
AffoD L <0.01 <0.01 <0.01 <0.01
A% <0.005 <0.005 0.006 <0.005
237y <01 (FHaH) <01 (FA&H) <01 (FA&H) <01 (FHaH)
RYBIETT=L <0.0005(F4&H) | <00005(FHEH) | <0.0005(F#H) | <0.0005(FigH)
FyoOOTFLY <0.001 <0.001 <0.001 <0.001
FrSYA0TFLY <0.001 <0.001 <0.001 <0.001
Sonargy <0.001 <0.001 <0.001 <0.001
migkEE (2) €0.0002 <0.0002 <0.0002 <0.0002
- —.——ooOnIgy (%2) <€0.0002 <0.0002 <0.0002 <0.0002
(mg/1) ——_—syOnIFLY <0.001 <0.001 <0.001 <0.001
—.——ssonIFlLy <0.001 <0.001 <0.001 <0.001
————— —ryoOoTAY <0.001 <0.001 <0.001 <0.001
—— = fypOATAY (X2) <€0.0002 <0.0002 <0.0002 <0.0002
—.=_ssonTasy (%2) €0.0002 <0.0002 <0.0002 <0.0002
FHSL <0.0005 <0.0005 <0.0005 <0.0005
D <0.0003 <0.0003 <0.0003 <0.0003
FARUANLT <0.002 <0.002 <0.002 <0.002
RyEy <0.001 <0.001 <0.001 <0.001
Ly <0.001 <0.001 <0.001 <0.001
— - CF Yy <0.005 <0.005 <0.005 <0.005
JEEIFLY (%3) <€0.0002 <€0.0002 <0.0002 <0.0002
HAAFIY (pg-TEQ/) (3%1) - - - - - - - -
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